AR

T X T A4 — & 2 i W OB 2 O
X b | s B FE B |- A e B K |-
(R MHIERT | IR | 2 %% MIERT | MER | & %
A B (B-A) C D (D-C)
it 289,551 242 226 198 —44 121 139 138 17
sLET T 175,384 147 170 145 -2 74 97 97 23
AT 234,033 196 169 146 -50 98 100 100 2
BAam 34,493 29 18 14 -15 15 15 15 0
)| R T 56,449 48 46 35 -13 24 25 25 1
+Fo 62,870 53 41 33 -20 27 25 25 -2
—R 40,394 34 18 14 -20 17 17 17 0
o 59,807 50 36 24 -26 25 19 19 -6
ON5HH 33,747 29 13 7 -22 15 9 9 -6
)T 31,980 27 18 13 -14 14 8 8 -6
CRRLRERD)
FENHT 11,451 10 6 3 -7 5 3 3 -2
L) 2,828 3 3 2 -1 2 1 1 -1
& HA 2,912 3 2 1 -2 2 1 1 -1
S\ T 6,435 6 7 3 -3 3 1 1 -2
(PEHHEERD)
fi/r JRAT 10,480 9 3 2 -7 5 3 3 -2
REIHTHT 8,683 8 6 3 -5 4 2 2 -2
(GREE LT
V5 HER 1,368 2 1 0 -2 1 0 0 -1
(B EEAD)
JER IR T 15,265 13 8 6 -7 7 6 6 -1
KAGHT 10,030 9 6 4 -5 5 3 3 -2
H AR AT 8,051 7 2 1 -6 4 1 1 -3
(EHLEERR)
FAINHT 14,148 12 5 4 -8 6 7 7 1
A5 FHHT 13,394 12 4 -8 6 2 2 —4
Hr T 11,628 10 7 -3 5 4 4 -1
(EAEER)
1757) T 13,728 12 6 5 -7 6 7 7 1
T 16,251 14 6 3 -11 7 5 5 -2
ST 11,001 10 6 4 -6 5 3 3 -2
T HT 4,713 4 2 1 -3 2 1 1 -1
HARHT 18,211 16 8 5 -11 8 5 5 -3
BUWSHEHET 25,327 22 12 9 -13 11 6 6 -5
NI ETR 10,555 9 7 3 -6 5 2 2 -3
(FAEED)
KIEHT 5,581 5 1 0 -5 3 1 1 -2
OB 6,725 6 3 2 —4 3 2 2 -1
JEVF TR 2,034 2 1 1 -1 1 0 0 -1
AT 2,149 2 3 0 -2 1 1 1 0




AR

T X T A4 — & 2 i W OB 2 O
X b | s B FE B |- A e B K |-
(R MHIERT | IR | 2 %% MIERT | MER | & %
A B (B-A) C D (D-C)
(=J7HR)
= T 10,565 9 3 2 —7 5 4 4 -1
TR 17,963 15 10 6 -9 8 7 7 -1
-7 5,805 5 4 3 -2 3 2 2 -1
R T T 18,906 16 7 4 -12 8 5 5 -3
= 13,900 12 3 2 -10 6 4 4 -2
BT 2,638 3 1 1 -2 2 0 0 -2




